-

CERGRE L11E1T 1pA2 127 31Pp F7E2pc R 2 ¥i32 FZ REF 4

K

WM (E ) L4 THITD S EAEE PN G A Rl T ED A HEH > T E =
SRR E #1195 &3k R RoR # TG ERY 12/10 TEREE 79,000|111# & 2.5 %
TR A g Hocr E C L 1 12/31 TR 72,500({111# & .5 %
A Bt BMF
HoA P
LR A RGN 2 B 0208 2 LR 0 TR 0T G AR R AR R (3 AL 2 TR 2 s i

Eip o My AELLEA PR -

b3
2. FHp s it W FLiaEH AR TR (F)PAE G D)RE & BE 7] 0 4011006, 1-110. 6. 30 E #A2) S

110.6.5‘110.6.6(% TRER )2 (T F = #ie) o
SHFH g ARt B 2 AR EARyEE = o
RE R R PN E@IOFR A IRk E ARG A -
5. A erfEz M WE 4 o A SORHAT RS S £ 50%0 1 & 2 2 WS 4 o

>~




